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Rotation

1. The radius of gyration of a uniform rod of length l, about an axis passing through a point 
4

l
away from the

centre of the rod, and perpendicular to it, is :

yEckbZ l, dh ,d ,dleku NM+ ds yEcor~ vkSj blds dsUnz ls 
4

l
nwjh ij xqtjus okys v{k ds lkis{k NM+ dh ifjHkze.k f=kT;k (radius of

gyration) dk eku gS %

(1) 
1

4
l (2) 

3

8
l (3*) 

7

48
l (4) 

1

8
l

A.

Question ID : 4050365

Option 1 ID : 40503617

Option 2 ID : 40503618

Option 3 ID : 40503619

Option 4 ID : 40503620

Sol.

Electromagnetic Induction

2. Consider a circular coil of wire carrying constant current I, forming a magnetic dipole. The magnetic flux

through an infinite plane that contains the circular coil and excluding the circular coil area is given by i . The

magnetic flux through the area of the circular coil area is given by 0 . Which of the following option is

correct ?

o`Ùkh; vkdkj dh ,d dqaMyh esa fo|qr /kkjk I cg jgh gS] ftlds dkj.k og ,d pqEcdh; f}&/kzqo dh Hkk¡fr gSA ;fn ,d vuUr lrg] ftlesa ;g

dqaMyh gS] ijUrq ftlesa dqaMyh okyk oÙ̀kh; {ks=k fudyk gqvk gks] ls gksdj tkus okys ¶yDl dk eku i gks vkSj dqaMyh ds {ks=k ls gksdj tkus okys

¶yDl dk eku 0 gks rks fuEufyf[kr esa ls dkSulk fodYi lgh gS \

(1) i 0   (2) i 0   (3) i 0   (4*) i 0   

A.

Question ID : 40503613

Option 1 ID : 40503650

Option 2 ID : 40503649

Option 3 ID : 40503651

Option 4 ID : 40503652
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Sol.

Electromagnetic Waves

3. If the magnetic field in a plane electro magnetic wave is given by B


 = 3 × 10–8 sin(1.6 × 10³x + 48 ×

1010t) ĵ T, then what will be expression for electric field ?

;fn ,d lery fo|qr &pqEcdh; rjax dk pqEcdh; {ks=k B


 = 3 × 10–8 sin(1.6 × 10³x + 48 × 1010t) ĵ T gks, rks bldk fo|qr {ks=k

gksxk %

(1)  8 3 10 ˆE 3 10 sin(1.6 10 x 48 10 t) jV / m    


(2)  3 10 ˆE 60sin(1.6 10 x 48 10 t)kV / m   


(3*)  3 10 ˆE 9sin(1.6 10 x 48 10 t)kV / m   


(4)  –8 3 10 ˆE 3 10 sin(1.6 10 x 48 10 t)iV / m    


A.

Question ID : 40503615

Option 1 ID : 40503657

Option 2 ID : 40503660

Option 3 ID : 40503658

Option 4 ID : 40503659 :

Sol.

Electromagnetic Induction

4. A long solenoid of radius R carries a time (t) - dependent current I(t) = I
0
t(1 – t). A ring of radius 2R is

placed coaxially near its middle. During the time interval 0 t 1  , the induced current (I
R
) and the induced

EMF(V
R
) in the ring change as :

(1) Direction of I
R
 remains unchanged and V

R
 is zero at t = 0.25

(2) Att = 0.25 direction of I
R
 reverses and V

R
 is maximum

(3) Direction of I
R
 remains unchanged and V

R
 is maximum at t = 0.5

(4*) At  t = 0.5 direction of I
R
 reverses and V

R
 is zero

f=kT;k R dh ,d yEch ifjukfydk  esa   I(t) = I
0
t(1 – t) eku dh le; (t) ds lkFk cnyrh gqbZ fo|qr /kkjk og jgh gSA lbds chp ds fgLls

ds ikl 2R f=kT;k dh ,d lek{k fjax j[kh gqbZ gSA le; vUrjky  0 t 1  esa fjax esa izsfjr fo|qr /kkjk (I
R
) o izsfjr fo|qr&okgd cy

(V
R
) fdl izdkj ls cnyrs gSa \

(1) I
R
 dh fn'kk ,d leku jgrh gS vkSj t = 0.25 ij V

R 
'kwU; gSA

(2) t = 0.25 ij I
R
 dh fn'kk myV tkrh gS vkSj V

R
 vf/kdre gSA

(3) I
R
 dh fn'kk ,d leku jgrh gS vkSj t = 0.5 ij V

R
 vf/kdre gSA

(4*) t = 0.5 ij I
R
 dh fn'kk myV tkrh gS vkSj V

R
 'kwU; gSA
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A.

Question ID : 40503614

Option 1 ID : 40503655

Option 2 ID : 40503656

Option 3 ID : 40503653

Option 4 ID : 40503654

Sol.

Current Electricity

5. The current I
1
 (in A) flowing through 1 resistor in the following circuit is :

1 V

1 I  1

2 

2 

1 

fn;s x;s ifjiFk esa 1  izfrjks/kd ls cgus okyh fo|qr /kkjk I
1 
dk eku (A esa) gS %

(1) 0.4 (2*) 0.2 (3) 0.5 (4) 0.25

A.

Question ID : 40503612

Option 1 ID : 40503645

Option 2 ID : 40503647

Option 3 ID : 40503646

Option 4 ID : 40503648

Sol.

Waves on String

6. Speed of a transverse wave on a straight wire (mass 6.0g, length 60 cm and area of cross-section 1.0 mm²)

is 90 ms–1. If the Young's modulus of wire is 16 ×1011Nm–2, the extension of wire over its natural length is :

,6.0 xzke nzO;eku ds ,d 60 cm yEcs rkj ij vuqizLFk rjaxksa dh xfr 90 ms–1 gSA ;fn rkj dk ;ax dk xq.kkad 16 ×1011Nm–2 vkSj blds

vuqizLFk dkV dk {ks=kQy 1.0 mm² gks] rks rkj es gq, izlkj dk eku gSA

(1) 0.01 mm (2) 0.04 mm (3) 0.02 mm (4*) 0.03 mm

A.

Question ID : 4050369
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Option 1 ID : 40503635

Option 2 ID : 40503636

Option 3 ID : 40503634

Option 4 ID : 40503633

Sol.

Electrostatics

7. Two infinite planes each with uniform surface charge density  are kept in such a way that the angle

between them is 30°. The electric field in the region shown between them is given by :

vuUr yEckbZ vkSj pkSM+kbZ okys nks leryksa ds chp 30° dk dks.k cuk gqvk gS vkSj mu ij ,d leku i`"B ?kuRo    dk

vkos'k gSA bu leryksa ds chp fn[kk;s x;s {ks=k esa fo|qr {ks=k gksxk %

+ 

+  30° x

y

(1)  
0

x̂
ˆ1 3 y

2 2

  
    

(2)  
0

x̂
ˆ1 3 y

2 2

  
    

(3) 
0

ˆ3 x
ˆ1 y

2 2

  
        

(4*) 
0

ˆ3 x
ˆ1 y

2 2 2

  
        

A.

Question ID : 40503610

Option 1 ID : 40503639

Option 2 ID : 40503640

Option 3 ID : 40503638

Option 4 ID : 40503637

Sol.

Rotation

8. m

r
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As shown in the figure, a bob of mass m is tied by a massless string whose other end portion is wound on a

fly wheel (disc) of radius r and mass m. When released from rest the bob starts falling vertically. When it has

covered a distance of h, the angular speed of the wheel will be :

tSlk fd fp=k esa fn[kk;k x;k gS] m nzO;eku ds xksyd dks ,d nzO;ekujfgr Mksj ls yVdk;k x;k gSA Mksj dks nwljh vksj ,d

mipØ ij yisVk gqvk gSA mipØ dh f=kT;k r vkSj nzO;eku m gSA tc xksyd dks fojkekoLFkk ls NksM+k tkrk gS rks ;g Å/okZ/j

fn'kk esa fxjus yxrk gSA bl izdkj fxjrs gq, tc xksyd h nwjh r; dj ys rks mipØ dh dks.kh; xfr gksxh :

(1) 
3

r
4gh

(2) 
1 2gh

r 3
(3) 

3
r

2gh
(4*) 

1 4gh

r 3

A.

Question ID : 4050362

Option 1 ID : 4050366

Option 2 ID : 4050367

Option 3 ID : 4050368

Option 4 ID : 4050365

Sol.

Wave Optics

9. Visible light of wavelength 6000 × 10–8 cm falls normally on a single slit and produces a diffraction pattern. It

is found that the second diffraction minimum is at 60° from the central maximum. If the first minimum is

produced at 1 , then 1  is close to :

izdkf'kdh ds ,d iz;ksx esa  6000 × 10–8 cm  rjaxnS/;Z dk izdk'k ,d ,dy f>jh ij yEcor~ iM+rk gS vkSj ,d foorZu iSVuZ

cukrk gSA bl iSVuZ esa nwljk foorZu U;wure dsUnzh; egÙke ls 60° dks.k ij feyrk gSA ;fn bldk izFke U;wure 1  ij gks rks

1  fuEu esa ls fdlds fudV gS \

(1*) 25° (2) 30° (3) 45° (4) 20°

A.

Question ID : 40503620

Option 1 ID : 40503679

Option 2 ID : 40503678

Option 3 ID : 40503677

Option 4 ID : 40503680

Sol.

KTG & Thermodynamics
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10. Two moles of an ideal gas with 
P

V

C 5

C 3
  are mixed with 3 moles of another ideal gas with 

P

V

C 4

C 3
 . The

value of 
P

V

C

C  for the mixture is :

,d vkn'kZ xSl] ftlds fy;s 
P

V

C 5

C 3
 gS] ds nks eksy dks ,d nwljh vkn'kZ xSl] ftlds fy;s 

P

V

C 4

C 3
  gS] ds 3 eksy ls feyk;k

tkrk gSA xSlksa  ds bl feJ.k ds fy;s 
P

V

C

C  dk eku gS

(1*) 1.42 (2) 1.47 (3) 1.50 (4) 1.45

A.

Question ID : 4050367

Option 1 ID : 40503627

Option 2 ID : 40503626

Option 3 ID : 40503625

Option 4 ID : 40503628

Sol.

Semiconductors

11. Which of the following gives a reversible operation ?

fuEu esa ls dkSu ,d mRØe.kh; lafØ;k nsrk gS \

(1*) (2) 

(3) (4) 

A.

Question ID : 40503619

Option 1 ID : 40503673

Option 2 ID : 40503676

Option 3 ID : 40503674

Option 4 ID : 40503675

Sol.

Geometrical Optics

12. If we need a magnification of 375 from a compound microscope of tube length 150 mm and an objective of
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focal length 5 mm, the focal length of the eye-piece, should be close to :

;fn ,d 150 mm V;wc dh yEckbZ okys la;qDr lw{en'khZ ¼ekbØksLdksi½ esa 375 xqus vko/kZu dh vko';drk gks rFkk blds

vfHkn`';d ySal dh Qksdl nwjh 5mm gks] rks blds usf=kdk ySal dh Qksdl nwjh fuEu esa ls fdlds fudV gksxh \

(1) 2 mm (2) 12 mm (3*) 22 mm (4) 33 mm

A.

Question ID : 40503616

Option 1 ID : 40503664

Option 2 ID : 40503661

Option 3 ID : 40503662

Option 4 ID : 40503663

Sol.

Electromagnetic Induction

13. A  LCR circuit behaves like a damped harmonic oscillator. Comparing it with a physical spring-mass damped

oscillator having damping constant 'b',  the correct equivalence would be :

,d LCR ifjiFk voeafnr vkorZ nskfy=k dh Hkk¡fr O;ogkj  djrk gSA ;fn bldh rqyuk ,d dekuh ij yxs nzO;eku ls cus

voeafnr vkorZ nksfy=k ftldk voeanu fLFkjkad 'b' gks] ls djh tk; rks lerqY; jkf'k;k¡ gksaxh %

(1) L m,C k, R b   (2*) 
1

L m,C , R b
k

  

(3) L k,C b, R m   (4) 
1 1 1

L ,C , R
b m k

  

A.

Question ID : 4050361

Option 1 ID : 4050361

Option 2 ID : 4050362

Option 3 ID : 4050363

Option 4 ID : 4050364

Sol.

Gravitation

14. A satellite of mass m is launched vertically upwards with an initial speed u from the surface of the earth. After

it reaches height R(R = radius of the earth), it ejects a rocket of mass 
m

10
 so that subsequently the satellite

moves in a circular orbit. The kinetic energy of the rocket is (G is the gravitational constant; M is the mass of the

earth):

nzO;eku m ds ,d mixzg dks i`Foh dh lrg ls Å/okZ/kj fn'kk esa Åij dh vksj u xfr ls iz{ksfir fd;k tkrk gSA tc ;g mixzg

R (R= i`Foh dh f=kT;k) dh Å¡pkbZ ij igq¡prk gS] rks ;g m/10 nzO;eku ds ,d jkWdsV dk mR{ksi.k bl izdkj ls djrk gS fd
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mixzg rRi'pkr~ ,d o`Ùkh; d{kk esa pyus yxrk gSA mR{ksfir jkWdsV dh xfrt ÅtkZ gS (G xq#Rokd"kZ.k fLFkjkad o M iF̀oh dk

nzO;eku gS) :

(1) 
2m 113 GM

u
20 200 R

 
 

 
(2) 

2

2m 2GM
u

20 3R

 
  

 

(3*)  
2 119 GM

5m u
200 R

 
 

 
(4) 

2

3m 5GM
u

8 6R

 
  

 

A.

Question ID : 4050366

Option 1 ID : 40503622

Option 2 ID : 40503624

Option 3 ID : 40503621

Option 4 ID : 40503623

Sol.

Atomic Structure

15. The time period of revolution of electron in its ground state orbit in a hydrogen atom is 1.6 × 10–16s. The

frequencey of revolution of the electron in its first excited state (in s–1) is :

,d gkbMªkstu ijek.kq eas bySDVªkWu bldh U;wure ÅtkZ dh d{kk esa 1.6 × 10–16s eas ,d ifjØe.k iwjk djrk gSA igyh mÙksftr

voLFkk esa bySDVªkWu dh ifjØe.k vkòfÙk gksxh (s–1 esa) :

(1) 6.2 × 1015 (2) 5.6 × 1012 (3) 1.6 × 1014 (4*) 7.8 × 1014

A.

Question ID : 40503618

Option 1 ID : 40503669

Option 2 ID : 40503672

Option 3 ID : 40503670

Option 4 ID : 40503671

Sol.

WPE

16. A 60 HP electric motor lifts an elevator having a maximum total load capacity of 2000 kg. If the frictional

force on the elevator is 4000 N, the speed of the elevator at full load is close to : (1 HP = 746 W, g = 10

ms–2)

vf/kdre 2000 kg dh dqy Hkkj {kerk okys ,d ,yhosVj dks 60 HP okyk ,d eksVj Åij dh vksj mBkrk gSA ;fn ,yhosVj

ij yxus okyk ?k"kZ.k cy 4000 N gks, rks iwjh {kerk ls Hkjs gq, ,yhosVj dh xfr fuEu esa ls fdlds fudVre gS \ (1 HP = 746
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W, g = 10 ms–2)

(1) 1.5ms–1 (2*) 1.9ms–1 (3) 1.7 ms–1 (4) 2.0 ms–1

A.

Question ID : 4050363

Option 1 ID : 40503612

Option 2 ID : 40503610

Option 3 ID : 40503611

Option 4 ID : 4050369

Sol.

Capacitance

17.

A parallel plate capacitor has plates of area A separated by distance 'd' between them. It is filled with a

dielectric which  has a dielectric constant that varies as k(x) = K(1 + ax) where 'x' is the distance measured

from one of the plates. If (ad) << 1, the total capacitance of the system is best given by the expression:

lekukUrj IysVksa ls cus ,d la/kkfj=k dh IysVksa dk {ks=kQy A gS rFkk muds chp dh nwjh 'd' gSA bu IysVksa ds chp ,d ijkoS|qr Hkjk gqvk gS ftldk

ijkoS|qrkad k(x) = K(1 + ax) gSA ;gk¡ ij 'x' fdlh ,d IysV ls nwjh gSA ;fn (ad) << 1 gks, rks bl la/kkfj=k dh /kkfjrk dk mi;qDr eku

gksxk %

(1) 

2

0A K d
1

d 2

   
     

a
(2*) 

0AK d
1

d 2

  
 

 

a

(3)  0AK
1 d

d


 a (4) 

2
0A K d

1
d 2

 
 

 

2a

A.

Question ID : 40503611
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Option 1 ID : 40503643

Option 2 ID : 40503644

Option 3 ID : 40503642

Option 4 ID : 40503641

Sol.

Wave Optics

18. A polarizer - analyser set is adjusted such that the intensity of light coming out of the analyser is just 10% of

the original intensity. Assuming that the polarizer - analyser set does not absorb any light, the angle by which

the analyser need to be rotated further to reduce the output intensity to be zero, is :

,d /kzqod&fo'ys"kd ;qXe dks bl izdkj ls lek;ksftr fd;k x;k gS fd fo'ys"kd ls fudydj vkus okys izdk'k dh rhozrk ewy

izdk'k dh 10% gSA ;fn bl ;qXe esa izdk'k dk vo'kks"k.k u gksrk gks] rks fo'ys"kd dks fdrus eku ds dks.k ls ?kqekus ij mlls ckgj

vkus okys izdk'k dh rhozrk 'kwU; gks tk;sxh \

(1) 90° (2) 45° (3*) 18.4° (4) 71.4°

A.

Question ID : 40503617

Option 1 ID : 40503665

Option 2 ID : 40503668

Option 3 ID : 40503666

Option 4 ID : 40503667

Sol.

KTG & Thermodynamics

19. A litre of dry air at STP expands adiabatically to a volume of 3 litres. If 1.40  , the work done by air is :

(31.4 = 4.6555)[Take air to be an ideal gas]

1 yhVj vk;ru dh 'kq"d gok tks fd ekud rki o nkc (STP) ij gS] #)ks"e izfØ;k ls izlkfjr gksdj 3 yhVj vk;ru dh gks

tkrh gSA ;fn 1.40  rks gok }kjk fd;s x;s dk;Z dk eku gS% (31.4 = 4.6555)[gok dks vkn'kZ xSl ekusa]

(1) 100.8 J (2) 48 J (3*) 90.5 J (4) 60.7J

A.

Question ID : 4050368

Option 1 ID : 40503632

Option 2 ID : 40503629

Option 3 ID : 40503631

Option 4 ID : 40503630
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Sol.

COM, Momentum & Collision

20. Three point particles of masses 1.0 kg, 1.5 kg and 2.5 kg are placed at three corners of a right angle

triangle of sides 4.0 cm, 3.0 cm and 5.0 cm as shown in the figure. The center of mass of the system is at a

point :

3 cm

5 cm
4cm

1.0kg 1.5kg

2.5kg

(1) 2.0 cm right and 0.9 cm above 1 kg mass (2*) 0.9 cm right and 2.0 cm above 1 kg mass

(3) 1.5 cm right and 1.2 cm above 1 kg mass (4) 0.6 cm right and 2.0 cm above 1 kg mass

,d ledks.k f=kHkqt ftldh rhu Hkqtk,¡ 4.0 cm, 3.0 cm vkSj 5.0 cm yEch gSa] ds dksuksa ij 1.0 kg, 1.5 kg vkSj 2.5 kg

nzO;eku ds rhu d.k j[ks gq, gSa ¼fp=k ns[ksa½A bl fudk; dk lagfr dsUnz ftl fcUnq ij gS og %

3 cm

5 cm
4cm

1.0kg 1.5kg

2.5kg

(1) 1kg nzO;eku ds 2.0 cm nk¡;h vksj vkSj 0.9 cm Åij dh vksj gSA

(2*) 1kg nzO;eku ds 0.9 cm nk¡;h vksj vkSj blls 2.0 cm Åij dh vksj gSA

(3) 1kg nzO;eku ds 1.5 cm nk¡;h vksj vkSj 1.2 cm Åij dh vksj gSA

(4) 1kg nzO;eku ds 0.6 cm nk¡;h vksj vkSj 2.0 cm Åij dh vksj gSA

A.

Question ID : 4050364

Option 1 ID : 40503614

Option 2 ID : 40503613

Option 3 ID : 40503616

Option 4 ID : 40503615

Sol.

WPE

21. A particle ( m= 1 kg) slides down a frictionless track (AOC) starting from rest at a point A (height 2 m).

After reaching C, the particle continues to move freely in air as a projectile. When it reaching its highest
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point P (height 1 m), the kinetic energy of the particle (in J) is : (Figure drawn is schematic and not to scale;

take g = 10 ms–2______.

fp=k eas fn[kk, x;s ?k"kZ.kjfgr iFk AOC ij 1 kg  nzO;eku dk ,d d.k fcUnq A (Å¡pkbZ 2 ehVj) ls fojkekoLFkk ls 'kq:

gksdj uhps dh vksj fQlyrk gSA fcUnq C ij igq¡pus ds ckn ;g ,d iz{ksI; dh rjg gok esa pyrs jgrk gSA tc ;g vius

mPPkre fcUnq P (Å¡pkbZ 1 ehVj) ij igq¡psxk] rks bldh xfrt ÅtkZ (J esa) dk eku gksxk % (fn[kk;k x;k fp=k lkadsfrd gS; g

dk eku 10ms–2 ysa) ______.

2m 

O

C

Height
P

A

A.

Question ID : 40503621

Sol. 10.00

Dual Nature of Radiation & Matter

22. A beam of electromagnetic radiation of intensity 6.4 × 10–5 W/cm² is comprised of wavelength, 310  nm.

It falls normally on a metal (work function 2eV  ) of surface area of 1cm². If one in 10³ photons ejects

an electron, total number of electrons ejected in 1 s is 10x.

(hc = 1240 eVnm, 1eV = 1.6 × 10–19J), then x is _______.

rhozrk 6.4 × 10–5 W/cm²  okys fo|qr & pqEcdh; fofdj.k ds ,d fdj.kiqat esa rjaxnS/;Z 310  nm gSaA ;g fdj.k iqat ,d

/kkrq (dk;Z Qyu 2eV  ) dh lrg ij yEcor~ 1cm² {ks=kQy ij iM+ jgk gSA ;fn lrg ij iM+us okys 10³ QksVkWuksa ls dsoy

,d QksVkWu ,d bySDVªkWu dks fu"dkflr djrk gks vkSj l s esa fu"dkflr bySDVªkWuksa dh la[;k 10x gks] rks x dk eku gS ______ .

(hc = 1240 eVnm, 1eV = 1.6 × 10–19J)

A. 11.00

Question ID : 40503625:

Sol.

Electromagnetic Induction

23. A loop ABCDEFA of straight edges has six corner points A(0,0,0), B(5,0,0), C(5,5,0), D(0, 5, 0), E(0, 5,

5) and F(0, 0, 5). The magnetic field in this region is  ˆ ˆB 3i 4k T 


. The quantity of flux through the loop

ABCDEFA (in Wb) is___ .



13Matrix JEE Academy : Piprali Road, Sikar Ph. 01572-241911, Mob. 97836-21999, 97836-31999

Matrix
JEE Academy

JEE (MAIN ONLINE) JAN., 2020

ABCDEFA ywi dh lHkh Hkqtk,¡ lh/kh gSa vkSj blds N% dksus bl izdkj gSa% A(0,0,0), B(5,0,0), C(5,5,0), D(0, 5, 0), E(0,

5, 5) vkSj F(0, 0, 5) A ;fn bl {ks=k esa pqEcdh; {ks=k  ˆ ˆB 3i 4k T 


gks rks ywi ABCDEFA  ls gksdj tkus okys ¶yDl dk

eku (Wbesa ) gksxk ___ A

A. 175.00

Question ID : 40503624

Sol.

KTG & Thermodynamics

24. A Carnot engine operates between two reservoirs of temperatures 900 K and 300 K. The engine performs

1200 J of work per cycle. The heat energy (in J) delivered by the engine to the low temperature reservoir, in

a cycle, is ____ .

,d dkuksZ bUtu dks 900 K vkSj 300 K ds nks Å"ek HkaMkjksa ds chp pyk;k tkrk gSA bUtu izR;sd pØ eas 1200J ifjek.k dk

dk;Z djrk gSA bUtu fuEu rki okys Å"ek HkaMkj esa izfr pØ fdruh Å"ek (J esa) NksM+rk gS ____ .

A. 600.00

Question ID : 40503623

Sol.

Thermal Expansion

25. A non-isotropic solid metal cube has coefficients of linear expansion as : 5 × 10–5/°C along the x-axis and 5

× 10–6/°C along the y and the z-axis. If the coefficient  of volume expansion of the solid is C × 10–6/°C then

the value of C is ______.

/kkrq ds cus gq, ,d Bksl vlenSf'kd ?ku ds js[kh; izlkj xq.kkad bl izdkj gS% 5 × 10–5/°C  x-fn'kk esa rFkk 5 × 10–6/°C,

yrFkk z- fn'kkvksa esa A ;fn bldk vk;ru izlkj xq.kkad C × 10–6/°C gks] rks C dk eku gS  ______.

A. 60.00

Question ID : 40503622

Sol.


